0000 B40OOOOO
1090 (0DOO)

ooooo:
0000000000000 00DO00L00ODO0U0LO0ODO00DO0ODO0U0ODO0ODOU0OLOOD (DOUODOO)0DOLODO

ooo0o0o0ooD:(0boooo)
J000000O0o0ooo S000000000000000 P=(P(i,)))ijes 0000000000000

00 1. 000000000O00DO00D000DO0OO0 4,j€eSO000O00RNReNDODODODO P*(,j)>0000000
oood

0000 (period) 00000 D0O0OOODOO0DODOOODOOODOOODODODDOO d;D0¢000000DOOOODOO
0000000000d;=100000000000000 (aperiodic) D000

00 2.i€SO00000Per(i)={n>1|P"(,i)>0}0000d;= Per(}) 000000000000 0000000
d;00+0000000

0000000000000 [DOo]

o0 3. bob0obo0oooooooobob0oboboooo opobobob0 bobooooboboo

e 0000 +0000000000000000  jeS0000(j)>0000.
e 000 4,jeS0000 limy oo P*(i,j) =n(j). 000 SOD00000 0000 limy e puP?"=70000
Dooooo.

00:000000000 lim, e P, ¢) (00000)00000000000000000000000000000
N0000000000000000
00000000000000000000000000000000€S0000 lim, o P?(;,j)0000 j€ S8
00000000000000000 lim, e P(5, ¢) 0000000000000 0 () := limg e P*(,5) 0000
D_m()PG.K) = lim P"(5,5)P(j,k) = lim P (i, k) = (k)
J J

cobooboboooboooobooocoooooooon



